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QUESTION 1

Review the diagram. 

Is this cabling correct or incorrect, and why? (Choose the best answer.) 

A. The cabling is incorrect because the controllers are cabled from the host port. 

B. The cabling is incorrect because it usesthe top-down bottom-up cabling method. 

C. The cabling is correct because it follows the recommended E-Series cabling method. 

D. The cabling is incorrect because they have been daisy-chained. 

Correct Answer: D 

 

QUESTION 2
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With a system cache block size of 32K, how much cache space per I/O is "lost" if incoming I/Os are all 48K writes?
(Choose the best answer.) 

A. 24K 

B. 8K 

C. no space is lost 

D. 4K 

E. 16K 

Correct Answer: D 

 

QUESTION 3

What is a best practice recommendation for the automated system monitor? (Choose the best answer.) 

A. It should only run on one client connected to the storage system. 

B. It should be stopped during storage system normal operations. 

C. It should be stopped during a controller firmware upgrade. 

D. It should only be run on Windows server systems. 

E. It should run on all storage manager clients. 

Correct Answer: C 

 

QUESTION 4

What uses the Access Volume? (Choose the best answer.) 

A. Legacy operating environments 

B. XOR parity calculations 

C. Asymmetric Logical Unit 

D. Redundancy Check 

E. SMagent 

Correct Answer: E 

 

QUESTION 5

Which storage manager feature scans the system for issues, reports them, and suggests procedures that will correct the
issue? 
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A. Recovery guru 

B. Event Log 

C. Diagmon 

D. Performance monitor 

E. Storage array diagnostics 

Correct Answer: B 
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